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m1 = 3 :;< m2 = 3 :;< S = 36 => ?
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m1 = 3 :;< m2 = 4 :;< m3 = 5 :;<
S = 102 => ?
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m1 = 5 :;< m2 = 1 :;< S = 245 => ?
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m1 = 2 :;< m2 = 8 :;< m3 = 1 :;<
m4 = 2 :;< S = 364 => ?
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m1 = 1 :;< m2 = 2 :;<
m3 = 2 :;< S = 88 => ?
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m1 = 1 :;< m2 = 3 :;< m3 = 1 :;<
α = π/6 < S = 165 => ?
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m1 = 2 :;< m2 = 4 :;< m3 = 6 :;<
m4 = 1 :;< S = 792 => ?
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m1 = 2 :;< m2 = 4 :;< m3 = 5 :;<
α = π/4 < S = 52 => ?
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m1 = 2 :;< m2 = m3 = 3 :;<
α = π/4 < OB = BC < S = 319 => ?

&'(')' *+,- ./- . Y 6\ 3N15 ]1\ 6@

B
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A

m1 = 2 :;< m2 = m3 = 4 :;<
α = π/4 < AB = 4r < S = 62 => ?
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m1 = 1 :;< m2 = m3 = 2 :;<
α = π/4 < BD = DC < S = 12 => ?
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m1 = 2 :;< m2 = 8 :;< m3 = 1 :;<
m4 = 3 :;< S = 1182 => ?
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m1 = 1 :;< m2 = 4 :;< m3 = 2 :;<
m4 = 3 :;< S = 181 => ?
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m1 = 2 :;< m2 = 8 :;< m3 = 2 :;<
m4 = 2 :;< S = 444 => ?
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A

m1 = 1 :;< m2 = 4 :;< m3 = 2 :;<
m4 = 2 :;< S = 166 => ?
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A

m1 = 2 :;< m2 = m3 = 5 :;<
α = π/4 < BD = DA < S = 55 => ?
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A

m1 = 2 :;< m2 = 3 :;< m3 = 4 :;<
S = 220 => ?
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m1 = 2 :;< m2 = 1 :;< S = 100 => ?
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A

m1 = 1 :;< m2 = 4 :;< m3 = 1 :;<
m4 = 2 :;< S = 126 => ?
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